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MATHS

BOOKS - NCERT EXEMPLAR

ALGEBRAIC EXPRESSIONS

Solved Examples

1. The like terms in 3z (3 — 2y) and 2(1:3/ + x2) are

A. 9z and 222
B. —6zy and 2zy
C.9z and 2zy

D. —6zy and 2z>

Answer: B



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_J0awDDB0Gdi2
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2. The coefficient of xy in 3z’zy + Teyz — 22°x is

A.3z

C. 7xy

D.7z

Answer: D

° Watch Video Solution

3. The factors of the term —zy? are

Az Xyxy
B.—1XyXy

C-1lxzxy


https://dl.doubtnut.com/l/_J0awDDB0Gdi2
https://dl.doubtnut.com/l/_tUQg6PyoYBUm
https://dl.doubtnut.com/l/_cYpzJFxhgcjP

D.—1XzXyxXy

Answer: D

° Watch Video Solution

4. An algebraic expression having one or more terms with non-negative

integral exponents of the variables is called

° Watch Video Solution

5. Numerical factor in any term of a polynomial is called of the

term.

A. variable

B. term

C. coefficient

D. constant


https://dl.doubtnut.com/l/_cYpzJFxhgcjP
https://dl.doubtnut.com/l/_8F1VEIMBRQ6B
https://dl.doubtnut.com/l/_Ag7vfl8LyIZL

Answer: C

° Watch Video Solution

6. The terms with different algebraic factors are called

A. Like terms

B. Unlike terms

C. Binomial

D. Polynomial

Answer: A

° Watch Video Solution

7.The terms with same algebraic factors are called

° Watch Video Solution



https://dl.doubtnut.com/l/_Ag7vfl8LyIZL
https://dl.doubtnut.com/l/_UUq04gVgQkFv
https://dl.doubtnut.com/l/_I9MmXzVsqfeC

8. State true or False : An expression with two terms is called a binomial.

o Watch Video Solution

9. Every polynomial is a monomial.

o Watch Video Solution

10. The value of a variable is fixed.

o Watch Video Solution

11. Twice the sum of length x and breadth y of a rectangle is the perimeter

of a rectangle. Write the expression for perimeter.

o Watch Video Solution



https://dl.doubtnut.com/l/_NwIl0u5AN37y
https://dl.doubtnut.com/l/_MVR0h4DJnDE8
https://dl.doubtnut.com/l/_UF3EQMw0aYHm
https://dl.doubtnut.com/l/_wuBRzsJ6DQw1

12. Identify the term containing u? in the

u® + 3uv + 3uv® + v° and write its coefficient.

expression

° Watch Video Solution

13. Simplify the expression by combining the like terms:

723 — 3y + xy? + 2y — o°

° Watch Video Solution

14. Subtract the sum

3z%y% + 222y and — 322y — 5y? from z* + 23y? + 2%y + ¢t

° Watch Video Solution

15. Find the value of the following expressions at a=1b =-2:

(i) a® + b + 3ab


https://dl.doubtnut.com/l/_EBLv6A0bpBb6
https://dl.doubtnut.com/l/_p8kpr4V2bGG3
https://dl.doubtnut.com/l/_Yp1tZxyXijMz
https://dl.doubtnut.com/l/_n8EYzczrsThv

(i) a® + a’b + ab® + b°

° Watch Video Solution

16. Find each side of an equilateral triangle given below, if it's perimeter is

240 cm.

A

o Watch Video Solution

Exercise Write The Correct Answer


https://dl.doubtnut.com/l/_n8EYzczrsThv
https://dl.doubtnut.com/l/_MIDlMuzfTxou
https://dl.doubtnut.com/l/_6JVnAuTzVLb6

1. An algebraic expression containing three terms is called a

A. monomial

B. binomial

C. trinomial

D. All of these

Answer: C

° Watch Video Solution

2. Number of terms in the expression 3z? + Y — 2y2z — 2%z 4 5is

A.2
B.3
C.4

D.5


https://dl.doubtnut.com/l/_6JVnAuTzVLb6
https://dl.doubtnut.com/l/_G8319MpnRu1P

Answer: D

° Watch Video Solution

3. The terms of expression 4z> and — 3zy are:

A 4z? and — 3zy
B.4z% and — 3zy
C.4z% and — zy

D.z? and zy

Answer:

° Watch Video Solution

4. Factors of —5z2y?z are

A—-SXzxXyxXz


https://dl.doubtnut.com/l/_G8319MpnRu1P
https://dl.doubtnut.com/l/_yxnPO3NsdJa6
https://dl.doubtnut.com/l/_cOBaoONOtdbM

B.—5><:v2><y><z
C—OHXzTXTXYXyxz

D.—5 X & Xy X 22

Answer: C

° Watch Video Solution

5. Coefficient of x in — 9zy?z is

A.9yz
B. —9yz
C. 9y2z

D. — 9y2z

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cOBaoONOtdbM
https://dl.doubtnut.com/l/_szR2XAcQAxaH
https://dl.doubtnut.com/l/_rwkLJ6T8e12N

6. Which of the following is a pair of like terms?

A —Tzy’z, — Txlyz
B. — 1Oxyz2, 3ar:yz2
C.3zyz, 3z°y* 2>

D.4dzyz?, 4z’yz

Answer: B

o Watch Video Solution

7.1dentify the binomial out of the following:

A 3.713y2 + 5y — a:2y
B.z? +y — by — z’y
Cry+yz+zx

D. 3zy* + by — Xy?


https://dl.doubtnut.com/l/_rwkLJ6T8e12N
https://dl.doubtnut.com/l/_RvEEnoCwplql

Answer:

° Watch Video Solution

8.The sum of 2!~ zy + 2y? and — z* + zy + 242 is

A. Monomial and polynomial in'y
B. Binomial and Polynomial
C. Trinomial and polynomial

D. Monomial and polynomial in x

Answer: A

° Watch Video Solution

9.The subtraction of 5 times of y from x is

Abdx —y


https://dl.doubtnut.com/l/_RvEEnoCwplql
https://dl.doubtnut.com/l/_Hi07mRPHCDj7
https://dl.doubtnut.com/l/_vY5pOIJhbPUo

B.y — 5z

Cz— by
D.by — x
Answer: C

o Watch Video Solution

10. —b — O is equal to

A—-1xb

B.1-b—-0

CO—(—-1)xb

D.-b—-0-1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vY5pOIJhbPUo
https://dl.doubtnut.com/l/_DmZCsJ6rWeGm
https://dl.doubtnut.com/l/_g6WxehfZvOsk

11. The side length of the top of square table is x. The expression for

perimeter is:

Ad+x

B. 2x

C. 4z

D. 4z>

Answer: C

° Watch Video Solution

12. The number of scarfs of length half metre that can be made from y

metres of cloth is :

A. 2y

Y
B. =
2

Cy+2


https://dl.doubtnut.com/l/_g6WxehfZvOsk
https://dl.doubtnut.com/l/_VIjC21yhaEyd

D.y+ +

Answer:

° Watch Video Solution

13.123z2%y — 138z%y is a like term of :

A 10zy
B. —15zy
C.— 15x2y

D. 10z2y

Answer: C

o Watch Video Solution

14.The value of 322 — 52 + 3 when = = 1is


https://dl.doubtnut.com/l/_VIjC21yhaEyd
https://dl.doubtnut.com/l/_lp1nswlbKzwY
https://dl.doubtnut.com/l/_QHwgP9ITaHJw

Al

B.O

D. 1

Answer: A

o Watch Video Solution

15. The expression for the number of diagonals that we can make from
one vertex of a n sided polygon is:

A2n—+1

B.n —2

C.5n + 2

D.n—3

Answer: D



https://dl.doubtnut.com/l/_QHwgP9ITaHJw
https://dl.doubtnut.com/l/_KejTw3N7EC9E

| ° Watch Video Solution

16. The length of a side of square is given as 2z 4 3. Which expression
represents the perimeter of the square?

A 2z + 16

B.6z + 9

C.8z + 3

D.8x + 12

Answer: D

o Watch Video Solution

Exercise Fill In The Blanks

1. Sum or difference of two like terms is

| o WMl L\ dan C Al ikl mn



https://dl.doubtnut.com/l/_KejTw3N7EC9E
https://dl.doubtnut.com/l/_bRDbcTjM1EHX
https://dl.doubtnut.com/l/_nUfWeYCXS5V6

—rvvatlill VIUCU JUViuuivil )

2. In the formula, area of circle = 7rr2, the numerical constant of the

2is

expression mr

o Watch Video Solution

3.3a%b and — 7ba’ are _ terms.

o Watch Video Solution

4. —5ab and — 5ba’ are _ terms.

o Watch Video Solution

5.In the expression 27, the algebraic variable is

o Watch Video Solution



https://dl.doubtnut.com/l/_nUfWeYCXS5V6
https://dl.doubtnut.com/l/_PqgDD95Gjp3B
https://dl.doubtnut.com/l/_Aglh2wkR7ZTT
https://dl.doubtnut.com/l/_CDyQlXUdkDWz
https://dl.doubtnut.com/l/_sVwgihlbL3TX

6. Number of terms in a monomial is

A.”Zero

B. One

C. Two

D. Three

Answer: B

° Watch Video Solution

7.Like terms in the expression n(n + 1) 4+ 6(n — 1) are

° Watch Video Solution

8.The expression 13 + 90 is a

° Watch Video Solution



https://dl.doubtnut.com/l/_IpsL9855TGlv
https://dl.doubtnut.com/l/_uWLM8ax2pmBm
https://dl.doubtnut.com/l/_Fe0WkxCDMnkt

9. The speed of car is 55 km/hrs. The distance covered in y hours is

° Watch Video Solution

10.z + y + zis an expression which is neither monomial nor

° Watch Video Solution

n If (wzy +y? + 3) is subtracted from (3:r2 +y+ 2% + 5), then

coefficient of y in the result is

° Watch Video Solution

12. —a — b — cis same as -a-( ).

° Watch Video Solution



https://dl.doubtnut.com/l/_Fe0WkxCDMnkt
https://dl.doubtnut.com/l/_keF1kqoJWYXu
https://dl.doubtnut.com/l/_fqvl4QdgTy64
https://dl.doubtnut.com/l/_WJ8nIbvlptFB
https://dl.doubtnut.com/l/_MXvV1AjgOyZw
https://dl.doubtnut.com/l/_OhqtKgMe8PhA

13. On adding a monomial to —2x + 4y® + z, the resulting

expression becomes a binomial.

° Watch Video Solution

14.Evaluate: 3z + 23z2 + 6y° + 2z + 3° + = 5z + Ty’

° Watch Video Solution

15. If Rohit has 5xy toffees and Shantanu has 20yx toffees, then Shantanu

has ___ more toffees.

° Watch Video Solution

Exercise True Or False

T . .
1. State True or False: 1 + b + 22 is a polynomial.

| o Watch Video Solution


https://dl.doubtnut.com/l/_OhqtKgMe8PhA
https://dl.doubtnut.com/l/_qmy0EKXrLWtq
https://dl.doubtnut.com/l/_07xMxjjvbLoK
https://dl.doubtnut.com/l/_Vty0atbqzSuw

2.State True or False: (3a — b + 3) — (a + b) is a binomial.

o Watch Video Solution

3. A trinomial can be a polynomial.

o Watch Video Solution

4. A polynomial with more than two terms is a trinomial.

o Watch Video Solution

5.State True or False: Sumof xand yis z + v.

o Watch Video Solution



https://dl.doubtnut.com/l/_Vty0atbqzSuw
https://dl.doubtnut.com/l/_4pMxXiOFdmgo
https://dl.doubtnut.com/l/_JuAN54UI92dL
https://dl.doubtnut.com/l/_vwT7IoXHFQ1Z
https://dl.doubtnut.com/l/_Cmfng1elmGRw

6.Sum of 2 and p is 2p. True or false.

o Watch Video Solution

7. State True or False :A binomial has more than two terms.

o Watch Video Solution

8. State True or False : A trinomial has exactly three terms.

o Watch Video Solution

9. State True or False: In like terms, variables and their powers are the

same.

o Watch Video Solution



https://dl.doubtnut.com/l/_Isqq6j54hQZk
https://dl.doubtnut.com/l/_ufNl4OpZ7Nys
https://dl.doubtnut.com/l/_uHGW3t7kc6NH
https://dl.doubtnut.com/l/_tlsMLhCiV9W3

10. State True or False: The expression 4 y + 5 is a trinomial.

o Watch Video Solution

11. State True or False: 4p is the numerical coefficient of ¢ in — 4pg’.

o Watch Video Solution

12. State True or False: 5a and 5b are unlike terms.

o Watch Video Solution

13. State True or False: Sum of 2% + z and y + y?is2z? + 2y°.

o Watch Video Solution



https://dl.doubtnut.com/l/_at7ax5sFUXp4
https://dl.doubtnut.com/l/_acGIsRrR4Gxt
https://dl.doubtnut.com/l/_7Qh6XQhcH7qO
https://dl.doubtnut.com/l/_2K0RFAiEJC7p

14. Subtracting a term from a given expression is the same as adding its

additive inverse to the given expression.

° Watch Video Solution

15. The total number of planets of Sun can be denoted by the variable n.

° Watch Video Solution

16. In like terms, the numerical coefficients should also be the same.

° Watch Video Solution

17. State True or False :If we add a monomial and binomial, then answer

can never be a monomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_488rQlBD4vCy
https://dl.doubtnut.com/l/_T77DYWLVcKnK
https://dl.doubtnut.com/l/_4S04KFiylJVJ
https://dl.doubtnut.com/l/_a2TQ0S4FXFcI
https://dl.doubtnut.com/l/_y8nd26fSgtBW

18. State True or False :If we subtract a monomial from a binomial, then

answer is atleast a binomial.

° Watch Video Solution

19. When we subtract a monomial from a trinomial, then answer can be a

polynomial.

° Watch Video Solution

20. When we add a monomial and a trinomial, then answer can be a

monomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_y8nd26fSgtBW
https://dl.doubtnut.com/l/_5aT0JlgZKVnG
https://dl.doubtnut.com/l/_FFEE6l26RCad

1. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.

x is multiplied by itself and then added to the product of x and y.

° Watch Video Solution

2. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.
Three times of p and two times of q are multiplied and then subtracted

fromr.

° Watch Video Solution

3. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.

Product of p, twice of q and thrice of r.

° Watch Video Solution



https://dl.doubtnut.com/l/_iyZ78kHja6iu
https://dl.doubtnut.com/l/_aQgC9UWnQAbi
https://dl.doubtnut.com/l/_gg6yScFcEyvy

4. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.

Sum of the products of a and b, band c and c and a.

° Watch Video Solution

5. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.

Perimeter of an equilateral triangle of side x.

° Watch Video Solution

6. The algebraic expression,
Perimeter of a rectangle with length p and breadth q.

Is a monomial, binomial or trinomial?

° Watch Video Solution



https://dl.doubtnut.com/l/_8jJXMPmOLhFQ
https://dl.doubtnut.com/l/_KLme9HDLHjkh
https://dl.doubtnut.com/l/_ti4lKcQ6MqNS
https://dl.doubtnut.com/l/_hugUDLrWaJOh

7.The algebraic expression,
Area of a triangle with base m and height n.

Is a monomial, binomial or trinomial?

° Watch Video Solution

8.The algebraic expression,
Area of a square with side x.

Is a monomial, binomial or trinomial?

° Watch Video Solution

9. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.

Cube of s subtracted from cube of t.

° Watch Video Solution



https://dl.doubtnut.com/l/_hugUDLrWaJOh
https://dl.doubtnut.com/l/_ss37PhJFYSHZ
https://dl.doubtnut.com/l/_ntOrAKac1h5L

10. Write the following statements in the form of algebraic expressions
and write whether it is monomial, binomial or trinomial.

Quotient of x and 15 multiplied by x.

° Watch Video Solution

11. The algebraic expression,

The sum of square of x and cube of z is

A. monomial

B. binomial

C. trinomial

D. coefficient

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VviYS34J8uo3
https://dl.doubtnut.com/l/_RVDXGxHJUtjO

12. The algebraic expression,
Two times q subtracted from cube of q.

Is a monomial, binomial or trinomial?

° Watch Video Solution

13. Write the coefficient of 2 in the following:
(i)z® —z +4

(i) z* — 22% + 3z + 1

(iii) 1 + 2z + 3z + 42°

(V) y + v’z + v’z + ya®

° Watch Video Solution

14. Find the numerical coefficient of each of the terms:
(i) :c3y2z, wy2z3, — 3:cy2z3, 5:c3y2z, — 7:B2yz2

(i) 10zyz, — 7:I:y2z, — 9zyz, 2my2z, 23132y2z2

| o WMl \ i dan C Al iklmn


https://dl.doubtnut.com/l/_we3YrI3ya6DO
https://dl.doubtnut.com/l/_merfszd1f1QE
https://dl.doubtnut.com/l/_FD1JRgCJXdmP
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15. Simplify the following by combining the like terms and then write
whether the expression is a monomial, a binomial or a trinomial.

3z?yz’- 3zy’z + 2’y2® + Tzy’z

° Watch Video Solution

16. Simplify the following by combining the like terms and then write
whether the expression is a monomial, a binomial or a trinomial.

z + 323y + 322y? — 328y — 3y + yt — 322y?

° Watch Video Solution

17. Simplify the following by combining the like terms and then write
whether the expression is a monomial, a binomial or a trinomial.

p3q2'r + pq2r3 + 3p2qr2 — 9192q1"2

° Watch Video Solution



https://dl.doubtnut.com/l/_FD1JRgCJXdmP
https://dl.doubtnut.com/l/_y4Tm89kyDzvY
https://dl.doubtnut.com/l/_t0X5OKkdQUcm
https://dl.doubtnut.com/l/_Rdl0eqV6pI2U

18. Simplify the following by combining the like terms and then write
whether the expression is a monomial, a binomial or a trinomial.

2a +2b+2¢c —2a — 2b — 2¢ — 2b + 2¢ + 2a

° Watch Video Solution

19. Simplify the following by combining the like terms and then write
whether the expression is a monomial, a binomial or a trinomial.

5023 — 21z + 107 + 41z2° — 2 +1 — 93 + 71z — 3123

° Watch Video Solution

20. Add the following expressions:

p* — Tpg — ¢* and — 3p* — 2pq + 7¢°

° Watch Video Solution



https://dl.doubtnut.com/l/_Rdl0eqV6pI2U
https://dl.doubtnut.com/l/_gOBqwi8JuCEj
https://dl.doubtnut.com/l/_U2O1MgtifZxw
https://dl.doubtnut.com/l/_nFVLmSnYmTAQ
https://dl.doubtnut.com/l/_h9u9Bn5a7SxQ

21. Add the following expressions:

3 — 2%y — zy? — ¢ and 23 — 22%y + 3zy® + 4y

o Watch Video Solution

22. Add the following expressions:

ab+bc+ca and — bec — ca — ab

o Watch Video Solution

23. Add the following expressions:

pPP—q+r,d —r+pandr’—p+gq

o Watch Video Solution

24. Add the following expressions:

23y? + 229% + 3y* and 2 + 322y + 4ot

o Watch Video Solution



https://dl.doubtnut.com/l/_h9u9Bn5a7SxQ
https://dl.doubtnut.com/l/_mXtkaj2fulyq
https://dl.doubtnut.com/l/_LYE5EdCOGks4
https://dl.doubtnut.com/l/_E7gkYNT3am2W

25. Add the following expressions:

p’qr + pg*r + pgr’ and — 3pg*r — 2pgr?

o Watch Video Solution

26. Add the following expressions:

uv — rw, vw — wu and wu — uv

o Watch Video Solution

27. Add the following expressions:

a® + 3ab — be, b® + 3bc — ca and & + 3ca — ab

o Watch Video Solution



https://dl.doubtnut.com/l/_E7gkYNT3am2W
https://dl.doubtnut.com/l/_0DoECianO3uJ
https://dl.doubtnut.com/l/_doNmMJOosEuY
https://dl.doubtnut.com/l/_aLNmwHVbLfn2

28. Add the following expressions:

o 4 2 5 1 9 2 5 3
PP+ =, = —17p+ —p? and p° — 7

o Watch Video Solution

29. Add the following expressions:

t —t2 — 3 — 14,15t + 13 + 9t — 8¢%, 12t — 19 — 24t

o Watch Video Solution

30. Subtract

— 7p2q'r from — 3p2q'r'

o Watch Video Solution

31. Subtract

—a? — ab from b® + ab.



https://dl.doubtnut.com/l/_JSvtgUghNCDB
https://dl.doubtnut.com/l/_fWcQP2uVOL1f
https://dl.doubtnut.com/l/_nNBfOUHIzYRc
https://dl.doubtnut.com/l/_9svkfJaIaYDP

| & Watch Video Solution

32.Subtract

—da?y — 3 from 2% + 3zy® — 2%y

o Watch Video Solution

33. Subtract

ot + 32%y% + 5y from 2zt — 23y + Tyh

o Watch Video Solution

34. Subtract

ab—bc —ca from — ab-+ bec + ca.

o Watch Video Solution



https://dl.doubtnut.com/l/_9svkfJaIaYDP
https://dl.doubtnut.com/l/_v5Uq58qI5rgO
https://dl.doubtnut.com/l/_zOGlXUzdQ1YJ
https://dl.doubtnut.com/l/_7PPxJGikVplP

35. Subtract

—2a% — 20 from — a® — b + 2ab.
A.a®> — b — 2ab
B.a? — b> + 2ab
C.a’® + b* + 2ab

D.a’> — b

Answer: C

° Watch Video Solution

36. Subtract

23y? + 32%y® — Tzy® from z? + y* + 322y

—zy°.

° Watch Video Solution



https://dl.doubtnut.com/l/_O6CbkzJEWzP8
https://dl.doubtnut.com/l/_zGRRPQwokpuB

37.Subtract

2(ab+ bc + ca) from — ab— bc — ca.

o Watch Video Solution

38. Subtract

4.52° — 3.42% + 5.7 from 5z* — 3.222 — 7.3zx.

o Watch Video Solution

39. Subtract

11 — 15y from o3 — 15y% —y — 11.

o Watch Video Solution

40. What should be added to z* + 3z%y + 3zy? + v® toget 2® +¢y3?

A. —3xy — 3y’


https://dl.doubtnut.com/l/_Z22YRqQLNnun
https://dl.doubtnut.com/l/_Fl94tdXvgiZ9
https://dl.doubtnut.com/l/_7SbpNMPP9EaM
https://dl.doubtnut.com/l/_cwWE01yAIGkC

B. —3z2y + 3xy?
C. 3x2y — 3wy2

D. — 2z — 2y3 + 3x2y + 3avy2

Answer: A

° Watch Video Solution

41.What should be added to 3pg + 5p’¢> + p° toget p° + 2p°q® + 4dpq

?

° Watch Video Solution

42, What should be subtracted from

22% — 3xy + 2zy® + 3y° toget x> — 2z’y + 3wy? + 4y3?

° Watch Video Solution



https://dl.doubtnut.com/l/_cwWE01yAIGkC
https://dl.doubtnut.com/l/_FIv7YeUpmZoD
https://dl.doubtnut.com/l/_zL08THJEfvpp

43, What should be subtracted from

—7mn + 2m? 4 3n? toget m? + 2mn + n??

o Watch Video Solution

44.How much is 21a® — 17a®> less than 89a® — 644 + 6a + 16 ?

o Watch Video Solution

45, How much is

y* — 12y% + y + 14 greater than 17y® + 34y> — 51y + 68 ?

o Watch Video Solution

46. How much does 93p*> — 55p + 4 exceed 13p® — 5p% + 17p — 90 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_tg7uPK1FRmk4
https://dl.doubtnut.com/l/_Beg9mQ8Of9sB
https://dl.doubtnut.com/l/_Go2PJ7dSvSF3
https://dl.doubtnut.com/l/_R1t9CKe1Jpbt
https://dl.doubtnut.com/l/_nitERrfOtiOS

47.To what expression must 99z° — 33z? — 13z — 41 be added to make

the sum zero?

o Watch Video Solution

48. Subtract 9a* — 15a + 3 from unity.

o Watch Video Solution

49. Find the values of the following polynomialsata = — 2 and b = 3:

a’® + 2ab + b?

o Watch Video Solution

50. Find the values of the following polynomialsata = — 2 and b = 3:

a’® — 2ab + b?

o Watch Video Solution



https://dl.doubtnut.com/l/_nitERrfOtiOS
https://dl.doubtnut.com/l/_whp8WbkQu5wd
https://dl.doubtnut.com/l/_LRJ1ZFTMbNxg
https://dl.doubtnut.com/l/_xkbrewaA9mBq

51. Find the values of the following polynomialsata = — 2 and b = 3:

a® + 3a%b + 3ab® + b*

° Watch Video Solution

52. Find the values of the following polynomialsata = — 2 and b = 3:

a® — 3a%b + 3ab® — V*

° Watch Video Solution

53. Find the values of the following polynomialsata = — 2 and b = 3:

a? + b?
3

° Watch Video Solution

54.Find the values of the following polynomialsata = — 2 and b = 3:

a? — b?
3



https://dl.doubtnut.com/l/_xkbrewaA9mBq
https://dl.doubtnut.com/l/_5LnWNN4662ys
https://dl.doubtnut.com/l/_UJzVOwuKSi74
https://dl.doubtnut.com/l/_AuNVGFb5a8K5
https://dl.doubtnut.com/l/_CdeubmpoBPqk

° Watch Video Solution

55. Find the values of the following polynomials ata = — 2 and b = 3:

a+b
b a

° Watch Video Solution

56. Find the values of the following polynomials ata = — 2 and b = 3:

a’> + b —ab— b — a?

° Watch Video Solution

57. Find the values of  following
m=1n= —1and p=2:

m-+mn-+p

polynomials

at

° Watch Video Solution



https://dl.doubtnut.com/l/_CdeubmpoBPqk
https://dl.doubtnut.com/l/_UxmU3bvJI9cQ
https://dl.doubtnut.com/l/_4IxhlzCMfmmA
https://dl.doubtnut.com/l/_7Dmgkz8FJODY
https://dl.doubtnut.com/l/_NyM3UCEOzyhe

58. Find the values of  following polynomials at
m=1n= —1and p=2:
m? + n? + p?

° Watch Video Solution
59. Find the values of  following polynomials at
m=1n= —1and p=2:
m3 + n® + p?

° Watch Video Solution
60. Find the values of  following polynomials at
m=1n= —1and p=2:

mn + np + mp

° Watch Video Solution



https://dl.doubtnut.com/l/_NyM3UCEOzyhe
https://dl.doubtnut.com/l/_xDnSYkF9TN2Z
https://dl.doubtnut.com/l/_fzpoTUC88C2y

61. Find the values of following polynomials at
m=1n= —1and p=2:
m? 4+ nd + p® — 3mnp

° Watch Video Solution
62. Find the values of  following polynomials at
m=1n= —1and p=2:

m2n2 —i—n2p2 +p2m2

° Watch Video Solution

63. If A:3az2—4x—|—1,B:5m2—|—3x—8and C = 4z%> — 7x + 3,

then find:

(i) (A+B) - C
(i)B+C — A
(i) A+ B+C

| o WMl L\ dan C Al ikl n


https://dl.doubtnut.com/l/_M8iL2AjVOVLi
https://dl.doubtnut.com/l/_jVbolsOAy4te
https://dl.doubtnut.com/l/_JD5iWVnAd7mw
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64.If P= —(z—2),Q= —2(y+1) and R= —x + 2y, find a,

when P+ Q + R = ax

o Watch Video Solution

65. From the sum of

? —y*—1L,y* — 2> —1and 1 — 2® — y® subtract — (1+y°).

o Watch Video Solution

66. Subtract the sum of

12ab — 106> — 18a® and 9ab + 12b% + 146> from the sum of ab + 2b> anc

o Watch Video Solution



https://dl.doubtnut.com/l/_JD5iWVnAd7mw
https://dl.doubtnut.com/l/_N3gBTNkUtilI
https://dl.doubtnut.com/l/_CluHrX0CNyOQ
https://dl.doubtnut.com/l/_RVbMLPfVDPCC

67. Each symbol given below represents an algebraic expression:

A = 2x% + 3y, O = 5a% + 3x, =812 - 3%+ 2x+ 3y

The symbols are then represented in the expression:

Find the expression which is represented by the above symbols

° Watch Video Solution

68. Arjun bought a rectangular plot with length x and breadth y and then
sold a triangular part of it whose base is y and height is z. Find the area

of the remaining part of the plot.

° Watch Video Solution



https://dl.doubtnut.com/l/_Uqc8I2vcKIHc
https://dl.doubtnut.com/l/_rRN2yeyNHWKT
https://dl.doubtnut.com/l/_z1amv6VErwrA

69. Amisha has a square plot of side m and another triangular plot with

base and height each equal to ml What is the total area of both plots?

° Watch Video Solution

70. A taxi service charges Rs. 8 per km and levies a fixed charge of Rs.50.
Write an algebraic expression for the above situation, if the taxi is hired

for x km.

° Watch Video Solution

71. Shiv works in a mall and gets paid 50 per hour. Last week he worked
for 7 hours and this week he will work for x hours. Write an algebraic

expression for the money paid to him for both the weeks.

° Watch Video Solution



https://dl.doubtnut.com/l/_z1amv6VErwrA
https://dl.doubtnut.com/l/_Rl6kbEM2lnGg
https://dl.doubtnut.com/l/_FlmxwAr9txoe

72. Sonu and Raj have to collect different kinds of leaves for science
project. They go to a park where Sonu collects 12 leaves and Raj collects x
leaves. After some time Sonu loses 3 leaves and Raj collects 2x leaves.
Write an algebraic expression to find the total number of leaves collected

by both of them.

o Watch Video Solution

73. A school has a rectangular play ground with length x and breadth y

and a square lawn with side x as shown in the figure given below. What is


https://dl.doubtnut.com/l/_PznBcJuZmJvX
https://dl.doubtnut.com/l/_ZStdqdJNyDCF

the total perimeter of both of them combined together?

;I

° Watch Video Solution

74. The rate of planting the grass is x per square metre. Find the cost of
planting the grass on a triangular lawn whose base is y metres and

height is z metres.



https://dl.doubtnut.com/l/_ZStdqdJNyDCF
https://dl.doubtnut.com/l/_7rp1n75ewTI2

| ) Watch Video Solution

75.Find the perimeter of the figure given below:

A Gx—)——>

I I

2(x +y) 2(x +y)

l !

Be— (5x—y) —)C

° Watch Video Solution

76. In a rectangular plot, 5 square flower beds of side (x+2) metres each

have been laid (see figure given below). Find the total cost of fencing the


https://dl.doubtnut.com/l/_7rp1n75ewTI2
https://dl.doubtnut.com/l/_YGl0L6vaj07B
https://dl.doubtnut.com/l/_72EnHj8reVp2

flower beds at the cost of 50 per 100 metres:

° Watch Video Solution

77.A wire is (7x — 3) metres long. A length of (3z — 4) metres is cut for
use. Now, answer the following questions:

How much wire is left?

° Watch Video Solution

78.A wire is (7x — 3) metres long. A length of (3z — 4) metres is cut for

use. Now, answer the following questions:


https://dl.doubtnut.com/l/_72EnHj8reVp2
https://dl.doubtnut.com/l/_7S2WO7A3vtMy
https://dl.doubtnut.com/l/_lnkCDgPcIwBL

If this left out wire is used for making an equilateral triangle. What is the

length of each side of the triangle so formed?

o Watch Video Solution

79. Rohan's mother gave him 3zy? and his father gave him 5(:cy2 + 2).
Out of this total money he spent (10 — 3:cy2) on his birthday party. How

much money is left with him?

o Watch Video Solution

80. A triangle is made up of 2 red sticks and 1 blue sticks

h

length of a red stick is given by r and that of a blue stick is given by b.

Using this information, write an expression for the total length of sticks


https://dl.doubtnut.com/l/_lnkCDgPcIwBL
https://dl.doubtnut.com/l/_klnZiAkI9vub
https://dl.doubtnut.com/l/_rRYQzSLRQeYx

in the pattern given below:

° Watch Video Solution

. 1 1 .
81. The sum of first n natural numbers is given §n2 + 3" Find
(i) The sum of first 5 natural numbers.
(ii) The sum of first 11 natural numbers.

(iii) The sum of natural numbers from 11 to 30.

° Watch Video Solution



https://dl.doubtnut.com/l/_rRYQzSLRQeYx
https://dl.doubtnut.com/l/_2gcani88s9HW

82. The sum of squares of first n natural numbers is given by

1 1,3 2 ,
En(n +1)(2n+1) or 5 (2n® + 3n” + n). Find the sum of squares of

the first 10 natural numbers.

° Watch Video Solution

83. The sum of the multiplication table of natural number 'n' is given by
55 X n. Find the sum of

(a) Table of 7

(b) Table of 10

(c) Table of 19

° Watch Video Solution

84. Translate each of the following algebraic expressions into words

4b — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_ROEXAkodSgdZ
https://dl.doubtnut.com/l/_M4IYIq81Latg
https://dl.doubtnut.com/l/_52YJbbxOh0TJ

85.8(m + 5)

o Watch Video Solution

7 2
86. Solve th tion, _ =z
olve € equation 8 _ = 3

o Watch Video Solution

16
87.Solve the equation, 17 =
+3 w+ 1

o Watch Video Solution

1
88. Write the algebraic expression for the word phrase " 7 of the sum of

x and 7."

o Watch Video Solution



https://dl.doubtnut.com/l/_lq9Q8U9sAnlA
https://dl.doubtnut.com/l/_TeA3wyRINjwV
https://dl.doubtnut.com/l/_9x28HqMrdv2X
https://dl.doubtnut.com/l/_kTbtiTZEmTve

89. What's the Error? A student wrote an algebraic expression for “5 less

than a number n divided by 3" as % — 5. What error did the student

make?

° Watch Video Solution

90. Write About it Shashi used addition to solve a word problem about
the weekly cost of commuting by toll tax for 15 each day. Ravi solved the
same problem by multiplying. They both got the correct answer. How is

this possible?

° Watch Video Solution

91. Write an expression for the sum of 1 and twice a number n. If you let n

be any odd number, will the result always be an odd number?

° Watch Video Solution



https://dl.doubtnut.com/l/_jYWaL78zx8kS
https://dl.doubtnut.com/l/_T8ZjgQbbkFCA
https://dl.doubtnut.com/l/_xNbbMU8QI6B1
https://dl.doubtnut.com/l/_oWPFOnnv8Zo2

92. Will the value of 11z for x = — 5 be greater than 11 or less than 11?

Explain.

° Watch Video Solution

93. Match Column | with Column Il in the following:

Column I Column I

1. The difference ol 3 and a number squared (a) 4 -2x

2. 5less than twice a number squared by n2-3

3. Five minus twice the square of a number c)2n?2-5

4. Four minus a number multiplied by 2 (d) 5-2n?

5. Seven times the sum of a number and 1 ) 3-n?

6. A number squared plus 6 N2mn+6)
7. 2 times the sum of a number and 6 @7mn+1)
8. Three less than the square ol a number (h) ni* +6

° Watch Video Solution

94. Express the following properties with variables x,y and z.

(i) Commutative property of addition


https://dl.doubtnut.com/l/_oWPFOnnv8Zo2
https://dl.doubtnut.com/l/_DhGMsEwNlWpt
https://dl.doubtnut.com/l/_ToJOGg7KLmMp

(ii) Commutative property of multiplication
(iii) Associative property of addition
(iv) Associative property of multiplication

(v) Distributive property of multiplication over addition

° Watch Video Solution

Think And Discuss

1. Describe two different number patterns that begin with 3,6 ...

° Watch Video Solution

Check Understanding

1. Identify the following terms as like or unlike.

(@) 3x, 3y (b) 7k, 3k (c) 2p, 2pt

° Watch Video Solution



https://dl.doubtnut.com/l/_ToJOGg7KLmMp
https://dl.doubtnut.com/l/_bmH6wSzQqeNx
https://dl.doubtnut.com/l/_rcb5mFEMXCQO



https://dl.doubtnut.com/l/_rcb5mFEMXCQO

